1 | Page  www.appolosupport.com  PH: 9840226187

TNPSC GROUP - I PRELIMINARY 2020
TEST XXIV - REVISION I
MENTAL ABILITY SOLUTIONS

1. The product of Kumaran’s age (in years) two years ago and his age four years from
now is one more than twice his present age. What is his present age?

A.3 B. 4 C.5 C.6

Gyl SBCUTMSHUW aluiHer DHWLBIGCHTH aTIenBdh dnl 96T SHleMLLILIGI, G LOT66d
BTN T BHEHHES (PhHmHW ULIMSULILD Siaufler 4  SLewihHEHHSLI LNHen Sl
AUWMSULD OLHEDS HDLLILSBGHEF &LOD, 6160160, Slauflar sBOUTMSHW  ULImSHD
SHITCUT 5.

A.3 B. 4 C.5 C.6

Solution Let the present age of Kumaran be z years.
Two years ago, his age = (z —2) years.
Four years from now, his age = (z + 4) years.
Given, (z—2)(z+4) =142z
r© +2x—8 =1+2z gives (x—3)(x+3)=0 then, =13
Therefore, z =3 (Rejecting —3 as age cannot be negative)
Kumaran’s present age is 3 years.
Sirey @refler sHBUTENSI QUG T S4H6TUT(HSHET 6T6ITS.
2 SHUT(bBHEHHS (PEUT QUG — (T — 2) SpeTUT(bSET.
4 syetorbHEHHGL LeiT uwig = (z -+ 4) Spevorhser.
Qanhdd someuebLy. (r —2)(z+4) =142z
422 —-8 =1+2z-emhba. (z—3)(z + 3) = 0 -edmpha. = =13

EUWIG)| GEWD 6TvUTevuITS S([HHS (LGS
ereuTBeu. Glomenfledt HHBUTENH CULIG] 3 Sh6TVT(HSETT.
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2. A car covers a distance of 90 km at a uniform speed. Had the speed been 15
km/hr, more, then it would have taken 30 minutes less for the journey. Then
actual speed of the car is

A. 45 km/hr B. 75 km/hr C. 60 km/hr D. 90 km/hr
@ LS WHSH euemiguwiTeidl @Gy Frmer CoussHHled 90 &b FMTHNSH FHLSHHMBH. DISH6IT
CausdhFHev 15 FH.uS/wewil eaiiBeney SIFBMNHBILLIQHHSTeL Lwlewt GBID 30 MLOL BIS6T
GOBHIH(HHGLD 6lele0 lelabH OFem Frmen Gousld 61g)7?
A. 45 km/hr B. 75 km/hr C. 60 km/hr D. 90 km/hr
Explanation:
Solve from option
If actual speed of the car = 45 kmph
T:@:Z hrs
45
Increased Speed = 45 + 15 = 60 kmph

T=% :11 hrs
60 2

Time Difference = 2 - 1% =142 hour less for the journey.

Hence, actual speed of the car = 45 kmph

3. A sum of X 48,000 was lent out at simple interest and at the end of 2 years and 3
months the total amount was X 55,560. Find the rate of interest per year.
A.5% B. 6% C. 7% D. 8%
BLME aupmsll’ L oFe0 < 48000 @ 2 opawihder 3 1TSS STOVHHMGU L6
safau’ g cpeold GuBLLLL  QwrHssh Gameams I 55,5605 OmbHH eefed, il lg
AIHHMHH  HTEWIH.
A.5% B. 6% C. 7% D. 8%
Explanation:
P=48,000
3

S.I=55,560 - 48,000 = 7,560 N= ZEor 2% or % years R="7?

_ PNR
100

S.

48000x2>< R

100
_ 7560x100x4
480009

7560 =

7%
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4. A tank can hold 200 litres of water. At present, it is only 40% full. How many litres
of water to fill in the tank, so that it is 75% full?
A. 80 Itr B. 120 Itr C. 150 Itr D. 70 ltr
QM HewtenfT OHMiguier Gameeneney 200 eI LiTsmel Sy&D. HSBOUTEH SiFe0 40 %
Hewiewit HybLweteng eefled, 75% HewtenfT oiFed Hevpwl GouamiBoORIed SeiTenid
THHM VI L TH6IT HewtenfT CHemauliLi(BLb.
A. 80 Itr B. 120 ltr C. 150 ltr D. 70 Itr
Explanation:

At Present = 200x 40 =80Itr
100

75% full: 200x s 1501tr
100

150 - 80 = 70 Itr to be filled in the tank.

5. P alone can do %Of a work in 6 days and Q alone can do %of the same work in 4

days. In how many days working together, will they finish %of the work?

a. 3 days b. 6 days c. 4 days d. 2 days
P eresueu He01@uwi qp Geauemevu et % uUGHew 6 mreisefenid, Q eaiueuT  HelGw

9185 Gouenevuies % UGFHeW 4 HIeTHeMend (LT,  @(HeuHLD B enenlbg

ohd Geuemnevullesr %U@ﬁﬁmu_l 615HHEMET [BT6ITH6IM60 (LPIQLILIT?

a. 3 days b. 6 days c. 4 days d. 2 days
Explanation:

Px%:G = P=12days

Q><§:4 = Q=6days

3 |12x6
=x
4 { 18

}: 3days

6. A man takes 10 days to finish a job where as a woman takes 6 days to finish the
same job. Together they worked for 3 days and then the woman left. In how many
days will the man complete the remaining job?

a. 2 days b. 3 days c. 5 days d. 8 days
| APPSS L0
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@ Geouemevedw! (PIY&H&d QT Spewl 10 BT6THEHD H OCL6wT 6 HT6THEHLD d(bhHHH
Oamengleimpentt. @ meaumd Gaibgh SbdH Geouemevenw! 3 mHTeTHeT OCFUIsH LUIBE, SibH

Guewt Gouemevenw! &l (bF OFeim alBHDIT.  WBH(peiter Gouemevem!  OIHSH 6w
THHEM  HT6iTH6ie0 (LpIQLIMT?
a. 2 days b. 3 days c. 5 days d. 8 days
Explanation:
Work Together for 3 days = 3>{i+1} = 3{E} =4
10 6 30 5

Remaining work completed by a man = éxlo = 2days

7. By selling a flower pot for I 528, a woman gains 20%. At what price should she sell

it to gain 25%7?
a. < 500 b. 550 c.X 553 d. 573
@ Ouewt L&Fa 19 @eaiems < 5286@ alpml 20%Seomud GuBIEBTeT.  euet 25%
®eomud GUB WS elelienT  @lemevdhEG alBs GeuewsT(BHLD.
a.< 500 b. X550 c.X 553 d.X573
Explanation:
If C.P =100%
S.P 120% —> 528
S.P125% = ?

528x125 _550

120

8. The time taken for I4400 to become 4851 at 10%, compounded half yearly is

a. 6 months b. 1 year c. 11years d. 2 years
2
10% syemi® eul 1guied, SETWITEHIBHOBTIH (WewB U 19d SeautbdL U Lme, <4400
opag 4851 o SLGID.
a. 6 LOTHEIBEI b. 1 syemi® c. 11 syemiBeseir d. 2 suemiasel
2
Explanation:

Compound Interest = 4851 - 4400 = 451 Rs
5

Compound Interest for first six months = 4400xm =220

Compound Interest for Second six months = 220 + zzox% = 220+11=231
In one year C.I =220 + 231 =451 Rs.

PP & Ln]
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9. Find the rate of interest if the difference between C.I and S.I on I 8000 compounded
annually for 2 years is I 20.
A. 4% B. 5% C.6% D. 2%
800083, 2 YMIBBEHHE DML HFH SN IQHEGID dnl Bl 19dhELD B enL_Buiueier
alFHumgid I 20 eieaxled, o'y aiHSHMBH HTHIS.

A. 4% B. 5% C.6% D.2%
Explanation:

R 2
Diff =P x (—j

100

2

20 = 8900xR™_ pe o5 R 50
10000

10.If a company pays < 6 lakh for 15 workers for 20 days, what would it pay for 5
workers for 12 days?

A. 3T 2 lakhs B.< 1.2 lakhs C.% 15 lakhs D.% 1.8 lakhs

Qb HnleueToTeng 20BTeTsEhdhE 15 Galemeouwlmeisendd ¥ 6 6l &b OFHTMBHMUWI

AUPEIGHMH. 61660, DibHimleueid 5 Cousneowlmeisehd@ 12 HTeIHEHHE 61616616
OFHTEnHMUI  GULDRIGLD?

A.X 2 lakhs B.% 1.2 lakhs C.T1.51lakhs D.X 1.8 lakhs
Explanation:
M,D, — M,D,
Wl WZ
15x20 5x12 5x12x6
= = W2 =
6 W, 15x 20

=1.2 Lakhs

11. f A:B=4:6;B:C=18:5; find theratioof A:B: C.
A.12:5:18 B.5:12:18 C.12:18:5 D.18:12:5
A:B=4:6,B:C=18:5;aafe0 A:B:Culesr aldpsHmpd SHTewIs.

A.12:5:18 B. 5:12:18 C.12:18:5 D.18:12:5
Explanation:

A 4x3 12 B 18

B 6x3 18 cC 5

A: B : C

12 : 18 : 5
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12. Three unbiased coins are tossed. What is the probability of getting at most two
heads?
A.3/4 B.1/4 C.3/8 D. 7/8
PSIBI FITeT [BTeNIULIMIGET FWIL LILGHSIBT 616160 DIHBLULFID B(H HMELH6T HewL &P
BoDHHe| Wrghl?
A.3/4 B.1/4 C.3/8 D.7/8
Explanation:
Here S ={TTT, TTH, THT, HTT, THH, HTH, HHT, HHH}
Let E = event of getting at most two heads.
Then E = {TTT, TTH, THT, HTT, THH, HTH, HHT}.

. P(E}= _‘FI'IE:I - 3
7 nis) 8

13. The average age of a family consist Father, Mother and a Child is 20. If after seven
years the age of child will be 11. What was the average age when one day before
the child is born?

A.24 B. 20 C.18 D. 16
SHHWDH, HTUI LOBEPID  GWhHmd UHCWTeFd OETewi  GHBLuUSHHer FyTafl  euwig)

20. gup opemieB@ LIBG Gwhmaulesr gl 11 e, Gwbma UBLUSDBEGE (PH
BTl Fyrafl euulgl 6T6srent?

A.24 B. 20 C.18 D.16
Explanation:

F+M+C=20x3=60 years

Present Age of Child =11 - 7 = 4 years

Now, F+ M =60 - 4 = 56 years

Before 4 years (one day before the child is born)
F-4+M-4

=56-4-4=48

Average age of Parents =48 / 2 = 24 years.

14. Three bells toll at the interval of 12, 15 and 18 minutes respectively. If all the three
bells toll together at 8 a.m., when they toll together again?

a.9am b.10 a.m c.11 a.m. d.1pm

(eIl ewideT 12, 15 wmmid 18 Bl & BenL_Geuailulled elEHSIBEI. SLbepeTBID
(PFHL (pedB HTemev 8 ewldh@ Cabal @eddhdd sleled Wi eUTIRg Caibal
@6VHGLD?

a.9am b.10 a.m c.11 a.m. d.1p.m

Explanation:

PP&S LD
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LCM of (12,15, 18) = 180 Minutes = 3 hours
Toll together again =8 +3 =11 am.

15. H.CF.of x2+5x-6, x2 +4x-12, x2+ 8x+12

A. x-2 B.x+2 C.x+3 D.x+6
x2+5x -6, x2+4x -12, x2 + 8x + 12 gpflweumpilent 15.0um.6u wimg)?
A x-2 B.x+2 C.x+2 D.x+6
Explanation:

X2+5x-6=(x+6)(x-1)
x2 +4x-12=(x + 6) (x - 2)
X2+ 8x+12=(x +6) (x +2)
~ HCF=x+6

16. If (2p+%j:4, the Value of {pﬁ#jis

a. 4 b.5 c.8 d. 15

1 1
2 - :4 o 3 A — W . .

( p+ p] 67601160 (p +8p3] 6T LOGHILILY

a. 4 b.5 c.8 d. 15

Explanation:

(2p+£} =4
p

divide by 2 on both sides

1
—|=2
e

Cubeon bothsides

3
(p+ij =2°
2p
1

1
S+ +3xpx—| p+— |=8
p +8 3+ xpxzp(p sz

p3+—3+3x%x2:8

' GEEEEEER
n

-
c"d
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17. Simplify: /48 —3108 + 2427 +/192

a. 3 b.0 c. 243 d. 33
F(HHGHB. m —3\/@ + 2@ +4/192

a. 3 b.0 c. 243 d. 3J3
Explanation:

= 16x3 —3./36x3+2./9x3 +/64x3
=43-18\3+63+8\3
~183-183

=0

18. If today is Saturday, what will be the day 350 days from now ?

A) Saturday B) Friday C) Sunday D) Monday

BB FaldbHlpmo 6Tele0, B&edBhaH 3506U I HT6T 6I6T6 SHILPEMLDUITS

BpEED?

A) safsdpmn  B) Geueerillaaslipamio C) epmuiBpIcalipenio D) gnisl dlipenio
Explanation:

350 days, 350/7 (No Remainder),
No odd days, so it will be a Saturday.

19. Given the following:

PPPE

What number is opposite 4?

BIPHHEWILMeUBTV(HHSH 4 -B@& 6IHIM60 2 66N 6TewIen6mnIs SHTwIs.

(A)1 (B)2 (©)> (D)6
Explanation:

In first two dice, Common Numbers are 3 & 5.

.. 4 and 1 are opposite each other.

20. ROSE: 912822 :: MICE : ?
A. 139322 B. 14182422 C. 13182422 D. 149322

PP L0 |
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Explanation: el el
holodicol O |
gt T@H‘ feoro ('nfslf oY C\H‘“ Fsero \_o:;—
Q- o Lo Lot of ath Lo L
Q - [C\“" .Rc.m %&‘r ay E,ﬂ‘ fmm Lo&x’
5th o {ygst o 3'@04 fsom Lash

E <
)
S N\\'%M&L\ 7 |- 18- . -22 (From Los))

Ape: B, 418343

21.What happens to the area of the parallelogram, if the base is increased 2 times and

the height is halved?
a. Decreases to half b. Remains the same
c. Increases by two times d. none

R OOMBTSHHOT DYUILSESHMSH @i L RISTHAD, © WFHmS LTHWTHD
LmBBIbGUTSH DenemiaIsHIHe LJLILIGTe, 6leueuTml LOTH3ID?

a. UT&HWTS  LoTmID b. wmmrg) Cc. ®yawi® wLmBETGD d. ggideoenev
Explanation:

Area of Paralleogram =b x h

Now, Area of Paralleogram = 2b x %h =bxh

.. Remains the same.

22. The area of a trapezium is 352 sq. cm and its height is 16 cm. If one of its parallel
sides is 25 cm. Find the length of the other side.
o FfeusdHer ugliveney 352 #.05.16, QFRGHHSH CHTmeve] 16 G&F.18. gfeusshdle
e ILSEBIFHMND @ UbDSHHeT Homd 25 F.15 eaefled BOBTEH LSS
HemGlLoeitent?
a.7 cm b.9 cm c.11cm d.19 cm

 Solution

Let, the length of the required side be 'z' cm.

Then, area of the trapezium = % X h (a+b) sq. units

_ % X 16 (25+1)
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= 200+8x

But, the area of the trapezium = 352 sq. cm (given)
Therefore, 200 + 8¢ = 352
= 8r = 352-200
= 8r = 152
. 152
- - ==
8
xr = 19

Therefore, the length of the other side is 19 cm.

23. The dimensions of a hall is 10 m x 9 m x 8 m. Find the cost of white washing the
walls and ceiling at the rate of I8.50 per m?2.
QM SmLHer ey 10 5 X 9 16 X 8 16 elvipBauTBl 2 66Nl DHInl HH T FieUTH6l
BEpid  CuBameysE OCealeTenemugdsd @@ F&IJ WBLGHEG < 3.50 eaisb @b
OCTeHeF OCFevemeuss HT6emwISb.

A.T 3349 B.X 394 C.X 2584 D. 4500
Explanation:

Length of the hall (/) = 10m

Breath of the hall () = 9m

Height of the hall () = 8 m

L.S.A. + Ceiling of the building
2(/ + b)h + Ib sq.units
2(10 +9)8 + 10 x 9 sq.m
2x19x8+10x9sq. m
(304 + 90) sq.m ’
= 394 sgq.m

Cost of white washing one sq.m = < 8.50
Cost of white washing for 394 sqm = T 394 x 8.50
= T 3349

Total cost of white washing = T 3349

Area to be white wash
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24. The volume (in cm3) of the greatest sphere that can be cut off from a cylindrical
log of wood of base radius 1 cm and height 5 cm is

a. éﬂ' b. Eﬂ Cc.5rx d. §7Z'
3 3 3

1 G515 b, 5 0F.6 o Wyl sTewiL @@ J 2 (HmeTuled(hhdh DHBUFH H6
9lone] Oameni. Camenid Oeullp IHEHSILGHBS 6lealleD, DIHe HeT Dlena] (H. OF.L5-60)

a. éﬂ' b. E?I Cc.5rx d. §7Z'
3 3 3

Explanation:

Hint. Radius of the sphere = 1 cm

4 |
Volume of the sphere = — m/° cu. units
)
4 . 4 :
=3 tx1x1xlcem’” = 3 mom

25. Find out the wrong number in the following series.
15, 30, 90, 180, 540, 1090, 3240
A. 3240 B. 1090 C. 540 D. 180
Leteu(md eTemteuflengulled SHeUmTe 61600T6060T FH6wTL_l:
15, 30, 90, 180, 540, 1090, 3240

A. 3240 B. 1090 C. 540 D. 180
Explanation:

15x2=30 30x3=90 90x2=180 180x3=540 540x2=1080 1080x3=3240
Wrong Number is 1090.
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